383 CHS: Sample for multiple choice questions in mid-term I

A) The epidemiological triangle cannot fully explain factors related chronic diseases because:
1. The host is not clearly determined in chronic diseases. 
2. The environment is not well understood. 
3. The agent is specific so individuals and population can be protected. 
4. None of the above. 
5. All of the above.


B) People with a high sense of coherence are: 
1. Resilient against stress
2. Less able to deal with disease
3. Have a desire and motivation to cope with different situations
4. 1 and 3
5. 2 and 3
6. None of the above 
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